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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3

BfiE) | EBAK ) | EHE (EARA/K) | BERERE (B/R) | KR R
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G3-3

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

08:30 203 150. 0 3.24 |Z=| {Ri%e08:30 Bz (KREAEZHE)
09:30 203 150.0 3.24 |Z=| {Ri%e09:30 Bz (REAEZEBE)
11:05 203 150. 0 3.24 |Z=| {Ri&e11:05 Bz (GREERSE)
12:25 203 150.0 3.24 |Z=| {Ri%e12:25 Bz (REAZBE)
13:35 203 150. 0 3.24 |/hf| {Ri%e13:35 Bz (GREAEZEBE)
14:30 203 150.0 3. 24 FA| {Ri%@14:30 Bz (GRAEEE)
15:30 203 150.0 3.24 |2 =| {Ri%e15:30 Bz (REEZBE)
29t 1421.0 (k) 1050. 0 3ZHKEC: 2500.0, PH: 6.5

FORGEBBT SR AR B2 (203 vs 259.0))

PRIASLPRIERE118.0 ml.

REXFEBPH (10.35) 5i&%EPH (6.5) RERK, HFHRE
REXEEBPH (10.35) 5FMPH (6.5) REKKA, BFHRE

# [ /RECE (2652.0 vs 3815.0) RS

EREBPH (10.4) 5i8EME (6.5 RERK, FHEE.

ERGERPH (10.4) S5iRBIE (6.5) RERK, BRE.
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G3-3

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:10 136 110.0 2.376 S| {Rige06:10 Bz (RAERSE)
06:55 136 110.0 2.376 E  1BRi%e06:55 BE1 (RAERRE)
07:45 136 110.0 2.376 F BRi%e07:45 B CGREERE)
09:10 136 110.0 2.376 Sl {Ri%@09:10 B (RAERSE)
10:15 136 110.0 2.376 E BRi%e10:15 Bz (GRAERESE)
11:15 136 110.0 2.376 = Rige11:15 Bah (GRAEESE)
12:20 136 110.0 2.376 =l {Rige12:20 B3 (RAERSE)
13:20 136 110.0 2.376 E BRige13:20 Bz (GRAERESE)
14:00 136 110.0 2.376 E| {Rig@14:00 B3h (RE{EREE)
14:50 136 110.0 2.376 = RRiB014:50 B (RFEAEESE)
15:35 136 110.0 2.376 E BRi&e15:35 Bz (GRAEREE)
16:20 136 110.0 2.376 =l RiB016:20 Bah (RAEESE)
17:05 136 110.0 2.376 =l RRiB@17:05 Bz (REAEESE)
23t[1768.0 (13%) 1430.0 ZHKEC: 2500.0, PH: 6.5

large discrepency for begining water status (220:27.0), set to 220 ml
REXEBIPH (10.52) 5i&%EPH (6.5) RER KA, HFHE
REXFEBIPH (10.52) 5FMPH (6.5) RERK, EHRE
PE[EIRECE (2698. 0 vs 3832.0) fRe
EXGEBIPH (10.4) 518 %EE (6.5 RERK, FRE.

ERGEBIPH (10.4) S5iREE (6.5) REKK, HRE.




G3-3_0, Day=27 (2025-06-08)
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m=390, FV0=0 m=425, FV0=0 m=485, FV0=0
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G3-3

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

06:05 140 100. 0 2.16 E 1BRi&e06:05 Bzl (RAEREE)
07:00 140 100.0 2.16 E|  {Ri1&@07:00 Bah (RFE{ERLEE)
07:55 140 100.0 2.16 = {RRiB@07:55 B (RFAEEE)
09:10 140 100.0 2.16 S {Rig@09:10 Bz (KRAERSE)
10:25 140 100.0 2.16 5| {Ri%@10:25 B3 (RAERSE)
11:30 140 100. 0 2.16 El BRi&e11:30 Bz CGRAEESE)
12:40 140 100.0 2.16 Sl {Rige12:40 B3 (REAERSE)
13:35 140 100.0 2.16 E| {Rig013:35 Bah (RE{ERSE)
14:20 140 100.0 2.16 E BRige14:20 Bz CGRAERESE)
15:10 140 100.0 2.16 S| {Rige15:10 B3 (RAERSE)
16:00 140 100. 0 2.16 E BRi%e16:00 Bzl (RAERERE)
16:50 140 100.0 2.16 F BRige16:50 Bz (GRAERE)
24t]1680.0 (12 1200. 0 3ZHKEC: 2500.0, PH: 6.5

EORGERBTC R IR AR B E I (140 vs 172.0))

EXIASEPRIERE81.0 ml.
REXREBIPH (10.49) 5i&7EPH (6.5) RERK, BHNE
REXRGEIPH (10.49) 5FMPH (6.5) RERK, BHRE
EREBPH (10.5) 518 E{E (6.5 RERK, ERE.
FREBPH (10.5) S5iREEWN (6.5 RERK, BFRE.




G3-3_0, Day=26 (2025-06-07)
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